uNnT@ Word Test 1

A CIS Sof ClojLt BEO| 3T =g MAIR,

1 wander 2 solve

3 crop 4 floating

5 crawl 6 reach

7 cast 8 branch

9 performer 10 rapidly

11 lift 12 man-made

13 rise 14 thread

15 fortunately 16 come up with
B cCiS a2zl sisks Sof TlolLt ESE MAI2,

1 Hetstct 2 gEsict

3 ZEXIE Faict 4 Yolsict

5 o F= 6 3Zsict

7 &I M2 8 ds

9 SHIEIC 10 <7

11 THEstict 12 THAMSICH MLk

13 Hol 14 &4 =

15 #Holg 16 &




uNnT@  Word Test 2

A CIS 2[20] 2| HiZhj| LU U2 MR
1 out heat 22 YEsict
2 their OE AAZ
3 for Jél-7l7_|- %ol_f
4L be five students st O o2 JLdE|Ct

B CiS =xo| 25 QoM LW 22 TEA|R,
1 The tigers are waiting to catch ( prey / pray ) in the woods.
2 To save the Earth, we should ( recycle / produce ) waste paper or glass.
3 Under the bridge, a small ( ocean / stream ) flows.

4 We should take ( place / action ) to save the polar bears.

C Ck2 ozl etofoll sHiEse Y 20|12 HHSIAI2.

1 solution - - in a fast or sudden way
2 intelligent - - go back to a place after you have been away
3 rapidly - + having ability to think, understand and learn things well

4 return . + an answer to a problem or difficult situation



unT@) Grammar Test 1

because of + Al / 23 F0]
A CIS 2E0| ZS oM LU HS DAL,
1 Iwas absent from school ( because / because of ) | was in the hospital.
2 (Because / Because of ) the noise from the street, | couldn’t sleep.

3 Ishould stay at home ( because / because of ) it is raining heavily.

4 They didn’t buy the car ( because / because of ) its high price.
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1 The window was broken because the strong wind.

2 No clients didn’t visit the store any more.

3 Because by long nose, he is called “Pinocchio.”

Ll Ll

4 No team in the world isn’t stronger than our team.

C z=

2

F20ll 72510, CiE 22 SHASIAIR.

1 No players were happy with the result. (result: Z1l)

%

2 Everyone likes her because of her kindness.

%

3 No food or drinks are allowed in this area. (allow: 13}

—

4 He canceled the trip because of the hurricane. (cancel: F£35tcH

_)




uNnT@) Grammar Test 2

because of + Al / 28 F=

O CI2 2|2t UXSI=F FOTI LS HI=A| HIESHAL.

1 R LIRIIXIS0| FS27t xl= M W20 £2HFCt =

Some tree

(because of / branches / the stormy weather / broke )

2 L= Lo &8 mEoll & 4 SUACH

( couldn’t / my headache / because of / | / sleep)

3 149|843 W20l 2 ARS0l 1 7I+E 2ICh

Because

( many people / the singer / of / know / her success )

4 OFRE ZAI5| U UX| Tt mizss

(for /sure /no/knows/one)

5 O Lt2t= 2{A|OHRCE 3X|= Lt

(no / bigger /is / country / than Russia)
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(your excuse / no / wants / one / to hear)



